CLASS : 10th (Secondary) Code No. 4204
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UMK
MATHEMATICS
( Academic/Open )
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[ Hindi and English Medium |
(Only for Blind Candidates)
(Only for Fresh/Re-appear Candidates)

& 4 q§2] [ g% : 80
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° U TT FX T [ 39 FTE H JRT §T 16 T
797 17 &
Please make sure that the printed pages in this
question paper are 16 in number and it contains
17 questions

o FTTH H gy # oK 9 T e T_ # G
Eicre FELTE G [
The No. on the right side of the question paper
sh be written by the candidate on the front page
of¥he answer-book.

* FYF 97 F FI [GT J&@ F7 & Yee, JoT H %
7T [
Before beginning to answer a question, its Serial
Number must be written.
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o FUv-gikrml # &5 4 @l i1/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FHCYTH % GaRFd #Hg o dfe 7@ Ml of
ST & @ S fr@r FaT 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o TR STYT T To FeT-UH GT FF9T g
Candidates must write their Roll Number on the
question paper.

o UF F97] F I §7 @ §d I8 GPET FV o [ JIT-TE
g7 a @& & YO % Iy 54 FE § #E A @
&I & 59T T

Before answering the question, ensSure ‘that you
have been supplied the correct .and complete
question paper, no claim in this regard, will be
entertained after examination.

G 39T -
General Instizq\ ions :

(i) 7 S 81
N l questions are compulsory.
é@& §7 WT-yF 7§ 17 797 & o & an-gusl -

g FowgTae mwe:

&GUE 9 : 59 @F § gF g7 & [ad
JHET F GIGE (i-xvi) 9T & J9F
g7 1 9% # 8 §E FT T
FeTe-gleT 4 o)
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(3) 4204

g T FGTH2 G6 75 7T U FT
&, q® J97 3 STH F

% G G GTHT T 12 T F 8 I
& H9% 797 4 STH F 8

g% T 39 §% §13 @ 17 7% 37 9
97 &, 9% F9T 5 G # 81

This question paper consists of 17 questions

in all, which are divided into four

Sections : A, B, Cand D :

Section ‘A’ : This section consists of one
question which has Sixteen
(i-xvi) Objective type questions,
each of 1 mark. Write correct
answer in your answer-book.

Section 'B': This section consists of five
questions from 2 to 6, each of
3 marks.

Section 'C': This section consists of six
questions from 7 to 12, each
of 4 marks.

Sect@'D’: This _section consists of five

g\ questions from 13 to 17, each
(§’ of S marks.
(il &Y @ 7 ey 76 & T @ % @

S 7T 7 arar e e w & 0wl 7 @

TGP TT T & F97 FTT 81

There is no overall choice, but in two
questions of Section 'D' internal choices are
given. You have to attempt only one of the
given choice in such questions.
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(4) 4204

g - H
SECTION - A
1. () 140 % HF9Y @S & [ONGA & @Y H FH
Gl 1
Express 140 as a product of its prime
factors.
(i) Frefofed & @ sF-d1 dRag den § ? 1
(a) V8 (B) 18
(©) +25 D) 27
Which of the following is rational number ?
() 8 (B). W18
(©) +25 (D) 427

(i) iﬁwa@a 4x% +8x,.% IH TG HI 1

the zeroes of quadratic polynomial

\Q‘&+8x
@iﬁaﬁs@axwmlo%sﬁﬁaﬁrﬁwm
it 1

Find the sum of zeroes of quadratic

polynomial x2+7x+10.
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(5) 4204

v) p % B A & R s wliEme & FW ow

A & 8 7 1
dx+ py+8=0
2x+2y+2=0

For which value of p does the pair of
equations given below has unique solution ?

dx+ py+8=0
2x+2y+2=0

(vi) 4x? +4x+1=0 % et s HIRT 1
Find the discriminant of 4x? +4x41=0.

(vii) A. P. 1 2, 7, 12, .ooveennnn. . 1091 98 A
EASIY 1

Find 10th term of an.A. P. : 2, 7, 12,

(viii) A. \Q®4 ~10,=16, —22, ..... T TEIA BT : 1

@Q’ B -6
QQ (C) 4 (D) 8
% The common difference of an A. P. : -4, -10,

—-16, 22, ...l will be :
(A) 6 (B) -6
© 4 (D) 8
4204 P.T.O.
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(6) 4204
(ix) fgaTt (2, 3) 8iR (4, 1) & = & §O A Hifow1 1

Find the distance between points (2, 3) and

(4, 1).
(x) Frfoied & @ g fig & Fewi® ea 8 ? 1
@A) (1,1) B) (2,1
(€ (0,0 (D) (2,2)

Which of the following are the coordinates
of the origin ?

(Aa) (1, 1) B) (2, 1)
(C) (0, 0) (D) (2,2
(xi) sin® 45° + cos? 45° & 9 81 : 1
1
(A) 1 (B) 7z
© 2 D) g
The value of sin® 45"+ cos? 45° will be :
1
(A) 1 B) —
& V2
N J3
(€92 D) S
\Q‘b
@ﬁi\?ﬂ?sinezi g, @ cos 6 & AN RN : 1
Q S -
(A)~0 (B) 2
3 3
(& s (D) 2
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(7) 4204

If sin6 = %, then cos 6 will be :

5
A) 0 B
3 3
(€ s (D) 2
(xiii) BTl 7 A g @ 9RFY & 1
(A) 2nr? (B) 2nr
(©) 3nr? (D) nr?

The circumference of a circle with-radius r

will be :
A)  2mr? (B) . 2nr
(C) 3mr? - D) wr?

(xiv) IAT PN A @ B e B 7 Faw
maT;\\g@tﬁ 9.5 99 & 1

i the volume of cylinder whose radius
d height.are 7 cm and 5 cm respectively.
N\
P A ey R iR e ¥ @ o i A

gL g8 g & fF i s 9 S @ e
0.62 B A9T& & Sfiq @l Fa1 Midehar & ? 1
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(8) 4204

Two players, Vanshita and Tejasvi play a
tennis match. It is known that the
probability of Vanshita winning the match
is 0.62. What is the probability of Tejasvi

winning the match ?

(xvi) 52 Tl % T THR F Bel & T Tl d 4 Th
T eI ST 31 A AT T B eSS e B
%l TR ST HifoTT) 1

One card is drawn from a well shuffled deck
of 52 cards. Find the probability of getting a

king of red colour.
qus - §
K&Q‘® SECTION - B

S
2. 86T 255 B HCF gRee Rsiow saf & s

E§§%% ST aifeT| 3

Use Euclid's algorithm to find the HCF of 867
and 255.
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(9) 4204

3. W% g sgue S #IC, TEs Rl & AN qn
O SHH: % e -1 &l 3
Find a quadratic polynomial, the sum and
product of whose zeroes are % and -1

respectively.

4. A 3@ gl frat @@t 7 q faarey g 7 3

How many three digit numbers are divisible by 7.2

5. I¥ sec 4A = cosec(A — 20°), SRl 4A TH N o %,
@ A F AN ST HIT 3

If sec 4A = cosec(A — 20°), where 4A is an acute

angle, then find the values of A.

6. el Taed & 50 HfHHl -3 ForRd & e
. : 3

AN

g WX
|
%ﬁﬁﬁ@ 100-120|120-140|140-160{160-180{180-200
89
N/

il H GEAT 12 14 8 6 10

56 GFll & Al B Aed 3fE Ao S BT
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(10) 4204

Consider the following distribution of daily

wages of 50 workers of a factory :

Daily Wages (in ¥) |100-120|120-140{140-160|160-180(180-200

Number of Workers 12 14 8 6 10

Find the mean of daily wages of this factory

workers.

g -9
SECTION-C

7. TF fohbe &9 & g 3 7 97 qAL6 de 3,800 T H
TR 9% ¥, 399 3 g 99T 5 s 1,750 T H @Ol
Tl gt SR A% e B G B 4

The Coa l&a cricket-team buys 7 bats and 6
balls 3,800. Later, she buys 3 bats and 5
ba@%or T 1,750. Find the cost of each bat and

%@Ch ball.

W FHHN & g | Tl 5 Bl 4
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(11) 4204

Solve pair of equations 1 +i =2 and
2x 3y
1 1 13 . . .
—+— ="— by reducing them to pair of linear
3x 2y ©
equations.

9. y-3TH W UE T fig s #ifr, St fgett A6, 5) &R
B(-4, 3) § g9 2l 4

Find a point on the y-axis which is equidistant

from the points A(6, 5) and B(—4, 3).

10. U% GHAJHS ®1 &kl S0 e foraes <, g6 %A
(3,0), (4, 5), (-1, 4) 3 (-2, -1) B 4

Find the area of a rhombus if its vertices are

(3,0),(4,5),(-1,4) and (-2, =1) taken in order.

Q

11. ﬁwzlg@aﬁraﬁw&m%ﬁwm°mw
$

' B SIHINT ¢ (i) A9 B TEE (i) =G

§@$$GMN 0 BeaEs & A= 2+2=4

In a circle of radius 21 cm, an arc subtends an
angle of 60° at the centre. Find : (i) the length of

the arc (ii) area of the sector formed by the arc.
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(12) 4204

12. @ =0 §5 #, 50 W@ & O Ree B, 1 T & WM
Rep 8,233 a9 9 iR 5 T % 30 R 21 A
et S B e SweT B W PIg Th [ R &
UROTH THWIE §, O 6 # Wikl ¢ % ag F
ot Rt (i) 1 3 &1 8FT 2 (if) 50 ¥ &1 e e ?

2+2=4

A piggy bank contains hundred 50 paise coins,
fifty ¥ 1 coins, twenty ¥ 2 coins and ten ¥ .5
coins. If it is equally likely that one of the coins
will fall out when the bank is turned upside
down. What is the probability that the coin (i)

will be % 1 coin ? (ii) will not be 50 paise coin ?

qus - §
SECTION =D

13. @ %Fﬁirqégfgﬁ F HE FF oMER F 7 AN W

R QF%§§S F1 &, @ o & I T BT 5

T %(?éi ht of a right triangle is 7 cm less than
g g g
«1’3& base. If the hypotenuse is 13 cm, find the

other two sides.

STeE
OR
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13) 4204

(
% Hiex e o er s § T 18 /g §,
24 fHHl 90 & Uieege M H, 98 g 910 & AR
T B SWET 1 ger oif¥e A B OWT @ oA s
BT 5

A motorboat whose speed is 18 km/h in still
water takes 1 hour more to go 24 km upstream
than to return downstream to the same spot.
Find the speed of the stream.

14. 5 A.P. 3 A1 X 83 W& F INT 24 T qAT B AR
103 T&F HT IANT 44 Bl 3 A. P. 3 YW N UE S
i) 5

The sum of the 4th and 8th terms of an A. P. is
24 and the sum of the 6th and 10th terms is 44.
Find the first three terms of the A. P.

15. T HMX & UG 45 & Th-9ad & R & S~1ET
30°%aﬂﬂ@?%mﬁgﬁwiﬁﬁwww
®W60°§§\\€ri%rﬁwsoﬁw€r o qaT B HAR

B 5
Q
@e angle of elevation of the top of a building

§rom the foot of the tower is 30° and the angle of
elevation of the top of the tower from the foot of
the building is 60°. If the tower is 50 m high,
find the height of the building.

4204 P.T.O.

... 1allNOTES and PAPERS at StudentSuvidha.com


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com
Free Hand Highlight

Free Hand Highlight

http://studentsuvidha.com/
http://studentsuvidha.com/

(14) 4204

16. HE A9 UH TEA JFNA B MHR H & PEd HW
% GrEdl a9 ARG 81 36 T B FA S 13
It qur o1 H AW 14 A Bl 3@ SO H1 AR
TSR % S i 5

A vessel is in the form of a hollow hemisphere

mounted by a hollow cylinder. The diameter of
the hemisphere is 14 cm and the total height of
the vessel is 13 cm. Find the inner surface area
of the vessel.

17. Feiiad gl oregare # T Ry ad s gu
AR &l g H a8 5

arg (adt ¥) |5-15|15-25| 25-35 | 35-45 14555 | 55-65

ARG & 6 11 21 23 14 5
qer -

ST SATBSt F qgah T I

The follg@g table ‘shows the ages of the
patier@dmitted in"a hospital during a year :

AN

®
@es (in Years)| 5-15 |15-25|25-35 |35-45 | 45-55 | 55-65

N\

Number of 6 11 21 23 14 5

Patients

Find the mode of the data .
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(15) 4204

OR

Frfafad aRaRar e fhel Al & 70 IS
F foorell & WfE TUq AW 21 3 SiTRS! H WD

T HIT 5
it @ua (FEal #) | Suweel @ e
65-85 4
85-105 5
105-125 13
gg&ﬁs 20
NJ*
&
145-165 14
N
@\\
165-185 8
185-205 4
4204 P.T.O.
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(16) 4204
The following frequency distribution gives the
monthly consumption of electricity of 70

consumers of a locality. Find the median :

Monthly Consumption Number of
(in Units) Consumers

65-85 4

85-105 5

105-125 13

125-145 20

145-165 14

Q&
RN
-185 8
&Q\Q
%Q 185-205 4
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